Name

Hand in Hand 3 Unit 3 Test

Score
@ Listen and circle. . 4
(a)I'm sorry I can't. 2 (a)Yes, of course.
(b) It's 40 dollars. (b)You look great.
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() Look, read, and circle.

What is he wearing?
He’s wearing a sweatshirt.

Yes No

What are they wearing?
They’re wearing sneakers.

Yes No
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1 What are they wearing? 2 Are they wearing T-shirts?
They’re wearing sneakers. Yes, they are.
3 Is she wearing shorts? 4 Is he wearing jeans?
No, she isn’t. She’s wearing No, he isn’t. He’s wearing

a dress. shorts.
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